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2 1 2 W 4B 5B 6B 7H 8B 9B 10B ARavk IoVid
14 B i 10, 3| 8|10 6| 9|6 |10 10| 8 80P (8.0 /80)
24 ZIE BF 2 19688 91 9|99 74P ( 6.8 /80)
3L =& AHC 9 8| 5|5|9|8/|1/|8]| 7|10 70P(62/78)
441 M SF 7110797 /|2]|7]|6 4 59P ( 7.0/6.2)
5 faE &F 2 | 9| 7|2 |4|10[ 7|85 54P ( 7.3/5.0)
6L ME AR 373|610 8 2 39P ( 6.0/50)
761 FFIL BEF 6 | 10| 3| 5 3|43 34P (53 /43)
84 FH EF 4 4 6 | 7 21P (5.0 /55)
94 JIlE BE 5 3 2 | 4| 6 20P ( 40/ 40)
10 IR HSF 6 4 5 15P (5.0 /5.0)
11 i /MR EF 5 2 5 12P (40/00)
1241 fiK #BF 8 3 1 12P (55/1.0)
1341 HIIl EF 10 10P ( 0.0 /10.0
1441 KHMA EF 1 6 3 10P (1.0 /45)
15 i Fik mH# 2 7 9P ( 0.0 / 45)
16 i1 HiFE HiEF 4 | 4 8P (4.0/40)
1741 B EKF 1 5 6P (3.0/00)
184 BE FBF 1 2 3 6P (2.0/20)
1941 FhoT A 4 4P ( 40/00)
20 i FHR AF 1 2 3P (20/10)
SRAU DR
& B = 10P F6f = 5P
g2y = 9P F7 = 4P
3L = 8P g8 = 3P
a6 = 7P Fofr = 2P
F56 = 6P Ziof = 1P

KERIATDB/EFHV 99> Eip LI K BIRELFF T
KERAVEDPE (T FI LA I DIRLLA
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& 18 28 3 4B SH ol TH oE OB 108 Mk Lol Y
21 457 IO #& 1 1 1 3P (1.0/1.0)

22 i TR HEF 1

1P (0.0/1.0)
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& B = 10P F6f = 5P
g2h = 9P B = 4P
H3fL = 8P el = 3P
®AR = 7P o = 2P
F56 = 6P Ziof = 1P
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